- Compare the o-pattern and the a-pattern of Yiqtol; paradigm root t7K3|7

Pa'al Yigtol — Strong Verb

- Note: 2.f.sg/ 2.m.p/ 3.m.p are identical in both patterns,

i.e. there are two consecutive shewas under first and second root consonant

Yigtol o-pattern and a-pattern with the roots AW "to guard" and 27}? "to approach”
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o-Pattern a-Pattern
(cholem) (patach)
1cs Sopx S0PR
2ms / 3fs Sopn Sopn
2fs Wpieiply
3ms Sop S0
1cp Sops S0p1
2mp Hopn
2fp / 3fp 37PN nI70pn
3mp 10

o-Pattern a-Pattern

(cholem) (patach)
1cs WDWN 27PN
2ms / 3fs ahwn PR
21s YD "A7P8
3ms w? Py
1cp WDI:D'J 73
2mp JWI:D'(:D'D 1290
2fp / 3fp YR 3P0
3mp ﬁpl:ﬂ? 1297




